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PART—A
SPOTTING ERRORS

Directions : Each item in this section has a sentence with three underlined parts labelled jaj, (B
and (e). Read each sentence to find out whether there is any error in any underlined part and indicate
yvour responge in the Answer Sheet agamst the corresponding letter, e, fal or (b or fel. If vou find no

error, your response should be indicated as (d).

1. He appears 1o be a honest man,. Mo ermor

fez) (il fc) fil)

2. One of the members expressed doubt if the Minister was an atheist. No error
fa} B fc) fei}

3. This view has been taken by one of the ablest persons . who has written on this subject.
fet) fby fcl

No error

fed)

. Slow and steady. owns the race, as the wise would say. No eiror
fea (b} ic) fel]

5. We often hear people say  that most human beings have not evolved
fa) iy

or grow up enough to stick fo truth or non-viclence. No error
fel (d}

YPL-LU-AV./60A 2
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SYNONYMS

Directions : Each item in this section consists of a sentence with an underlined word followed
by four words or groups of worda. Select the word or group of words that is nearest in meaning
to the underlined word and mark vour response 10 your Answer Sheet accorndingly.

6. The Industrial Revolution saw a massive 8. This boy is very timid.
rige in the population of Europe.

fa) courageous

fea}  enormous Bl shy

{o]  clever
(i ermonecus

() aall

h rd
fe]  hazardous 9. My friend is as stubborn as a mule,

fe) perilous fer) observant

(b} obnoxious

7. 1 had some deepest convictions refleéted fe) obstinate

in my work.
(d] corpulent

(@) ideas and opinions 10. His  behaviour was  decliberately
provocative.

(b firm beliefs fe}  exciting desire

(B  mfuriating
i) prejudices
fe] pihable

/d] biases fd] creating frastration

YPL-U-AV.J/60A 3 | P.T.O.
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ANTONYMS

Directions ; Each item in this section consists of a sentence with an underlined word followed
by four words or groups of words. Select the word or group of words that is opposite In meaning
to the underlined word and mark your response in vour Answer Sheet accordinghy.

11. Too many cooks spoil the broth. 13. Tt is easy 1o be an orthodoo
fa} ddolatrous

fa] ternish
(bl intellipent

{h! wreck e}  malignant

fd} heterodox

fc) embellish

14, Fermit me to present you with a book.

() upset

fal allow
fb enclose
12. He is biased against the students from el prohibit
cities. i

fdl persuade

la] open

15. Mone but the brave deserves the fair

fh) prejudiced fa) ugly person
{b] coward

fel o liked
fo} jealous person

fd] impartial fdd} weak person

YPL-L-AV.] f60A L
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COMPREHENSION

Directions : In this section, you have two short passages. After each passage, you will find some
iterns based on the passage. Pirst, read a passage and answer the items based on it and mark your
rezponse on the Answer Sheet accordingly, You are required 1o select your answers based on the
contents of the passage and opinion of the author only.

“Now, ladies and gentlemen,” said the conjurer, *having shown you that the cloth is absolutely empty,
1 will proceed to take from it & bowl of goldfish. Presto(”

All around the hall people weére sayving, “Oh, how wonderful| How does he do it?"

But the Quick Man on the front seat said in a hig whisper to the people near him,
“He-had-it-up-his-sleeve,”

Then the people nodded brightly at the Quick Man and said, "Oh, of course™; and evervbody
whispered round the hall, "He-had-it-up-his-sleeve.”

“My niext trick,” said the conjuror, "is the famous Hindostanee rings. You will notice that the rings are
apparently separate; at a blow they all join (clang, clang, clang)—Prests”

‘There was a general buzz of stupefacton tll the Quick Man was heard to whisper,
“He-must-have-had-another-lot-up-his-glesyve ™

Again everybody nodded and whispered, “The-rings-were-up-his-sleeve.”
The brow of the conjuror was clouded with a gathering frown.

“] will now," he continued, “show you a mest amusing trick by which 1 am enabled to take any
number of eggs from a hat. Will some gentleman kindly lend me his hat? Ah, thank you—FPresto |

He extracted seventeen eggs, and for thirty-five seconds the audience began to think that he was
wanderful, Then the Quick Man whispered along the front bench, “He-has-a-hen-up-his-sleeve,” and
all the people whispered it on. "He-has<a-lot-of-hens-up-his-sleeve.”

The egg trick was ruined.

It went on like that all threéugh. It transpired from the whispers of the Quick Man that the conjuror
must have concealed up his sleeve, in addition to the rings, hens, and fsh, several packs of cards, a
loaf of bread, a dell's cradle, & live guinea pig, a fiftv-cent piece, and a rocking chair,

16. “The braw of the conjurnor was clouded with a gathering frown.” The sentence means that
the conjuror

fa) was very pleased B} was very sad

fe} was rather angry fd) was very afraid

YPL-U-AV.J/G0A & | FT.Q,
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17. *The egg trick was ruined.” This means 19. The author belicves that the Quick Man
that was really
fa) eggs were all broken fal fochsh
jb) people were unconvinced
B clever

fe) comjuror was disappointed

fd] the trick could not be performed

18. According
conjuror

fai  had everyvthing bought for

fo] wrong

fd) right
te  the Quick Man, the

20. The comjuror extracted sevenieen epgs
from: the hat of

production
(b} produced things with the magic fz) the DQuick Man
he knew
his own
f¢) had things in the large sleeves of )
hia cnat

fe} one gentleman from the audience

fe} created an illusion of things with

Magda

hiz magic

Mra. Smiles :

Magda

Mra. Smiles

Magda

L

Mrs. Smiles :

Magda

Mrs. Smiles :

fd] Mone of the above

Good momning, Mrs. Smiles. It's wet, isn't it?

Yes, it is, isn't it® How are you today? All right? You haven't been studying too hard,
have yvou? You look a bit pale.

| don't, do 17 Well, 1 haven't been out much lately. | don't like this weather a bit
Why, we haven't had a dry day for weeks, have we?

No, | don't think we have, Let's see, vou'll be poing back home next month,
worn't you?

Oh no, I'm not going back yet. My sister’'s coming over first
Oh, is-she? You're looking forward to that, I expect. How long is it since you saw her?
Nearly & year now. Yes, | am looking forward to it very much.

She’s coming over here to study?

YPL-U-AV.]/60A (<]
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Magda

www.govtjobsalert.in

¢ Yes, that's right, I shan't go back home until she's settled down. | don't think I

ought to, ought I?

. Yea, she's only cighteen.

21. Magda had not been out much lately
because

fa)

ib)

fet

(e}

she had not been keeping well

she was busy with her studies

the weather had been unpleasant

her sister had come over to stay

22. Magda was not going back home wyet
because

e

i

fe)

fed)

it had been raining heavily

her sisier was coming over

her studies were not completed

she was not feeling well

YPL~-LU-AVJ/G0A

Well, no, she's vounger than you are, is she?

23. Mrs, Smiles says, “You're looking forward

to that® This means, Magda was

her sister's armival.
f) expecting with pleasure
(b preparing hard for
fo} thinking greatly about

fd)  watching with joy

24. Magda's sister was coming o
fa} st her sister
f} help Mrs. Smiles
fe}  settle down in England

fdl  pursue her studies

25. Mrs, Bmiles and Magda are
fal classmates
b school MHends
fr} neighbours

f} sisters-in-law

[ P.T.O.
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FILL IN THE BLANKS

Directions : Each of the following sentences in this section has a blank space and four words or
groups of words given after the sentence, Select whichever word or group of words vou consider
most appropriate for the blank space and indicate your response on the Answer Sheet accordingly.

26.

27.

28,

29,

40,

We fail o undersiand vour reasons
for the college without completing
the degres,

fa) attending {b) joining

feh leaving ] refusing

She her energy and started

shouting only when she heard the noise
of bulldozers and cranes.

fa) checked {b} conserved

fe) maintained  [d] controlled
The British all over Africa and Asia

collapsed in the first hall of the twentieth
cenbury.

fal hegemony b)) domicile

fef  residence (i) inheritance

The lootball match hes it be
bBecause of the weather,

fa)  called off (b continued

fo]  put off )] turned off

If Lowere. rich, a lot.

fa) Tl travel

fi) | can travel
fe} 1 would travel

fed] 1 travelled

YPL-U-AV.]/60A

31.

32.

34,

a5.

They apologized me for what
happened.

faj o (B at

fet  for fel) anth

If you are tired of swimming, just
for a whale.

fal struggle (b} stroke
e} foat fd) streak

» He had spoken for two minutes
when there was a commotion in the
crowd.
fer)  even fb)  hardly
fe}  often e} little

that

I would not commit myself

course of action,
fa) of b to

fe) by (e} with

The soldiers waiting o go into batile for
the first time were full of ;

fal apprehension
(b} consideration
fo}  anticipation

fd]  frivolity
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IDIOMS AND PHRASES

Directions : Given below are some idioms/phrases followed by four alternative meanings to each.
Choose the response (a), (bl &) or (d] which is the most sppropriate meaning and mark your
regponse on the Answer Sheet accordingly.

36. A red-letter day 349, To be in a fix

fal a trivial day

{al to receive sirong criticism
(Bl avery important or significant day

fel @ day of bloodshed and violence {b] to support oneself

fd] a mourning day

fej o fix problems
37. The gift of the gab

fa} ability to speak easily and {d) to be in a difficult situation
confidently

(b ability to spoil something

fe) ability to sell things 40, To fish in troubled waters

fe] gift from a sacred institution
fal  to borrow money
38. Walk a tightrope

fa) to be forced to leave your job (b} to steal belongings of
fbi to be ready to fall
fe) to get benefit in bad situation

fej to act very carefully

fd} to invite danger fd] to extend a helping hand

YPL-U-AV.J/G0A 9 | PT.O.
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ORDERING OF SENTENCES

DHrections : Each of the following items in this section consists of a sentence the parts of which have
been jumbled. These parts have been labelled P, Q, R and 8, Given below each sentence are four
sequences namely fa), (b}, j¢) and (d). You are required to rearrange the jumbled parts of the sentence
and mark your response on the Answer Sheet accordingly,

41. Domestic fires in Indian villages 43. Newton discovered that
P. as the heat is dispersed P. due to the gravitational pull
Q. an unhealthy smoke accumulates Q. of the earth
i unvenblated houses R. the apple falls
R. are wasteful 5. on the ground
5. lit in Chulhas The eorrect sequence should be
The correct sequence should be fa) QFRS fb) RSPQ
{al POQSE (e} QSPR () SQRP
b} POQRS 44. The knocking

P. were still in the house
fc) SPOR
Q. for some time
id} SRPQ R. although the echoes of it
5. ceased
42, Bold rocks near at hand
P. mekes a fine forest for the
imagination fa) SRPQ fb) SQRP
Q. than distant Alps fe} PQSR )] RSPQ
R. are more Rspicing

5. and the thick fern upon a heath

The correct sequence should be

45. The history of mankind is
P. and steady progress

The correel sequence should be 3. continuous change
g R. the history of

5. from barbarism to refinement
(b} - RSQP The correct sequence should be
fe] RQSP fa} PQRS b} RQFS
(d) SRQP fe) QSPR (d) SQRP

YPL-U-AVJ/f60A 10
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CLOZE COMPREHENSION

Directions : In the following passage there are some blank spaces with four words or groups of
worda given., Select whichever word or group of words you consider most appropriate for
the blank space and indicate your response on the Answer Sheel accordingly.

The honeyber is a very unusual kind of insect. 46. jn) Unlikes other insects which live
i) Similar to
fe) With
fdl Like

alone, the honeybee lives as ajfan 47, fa) group of .a community. These bees live

[[#]] individual
fc] member
fd} troop

together in what is known as a bee 48. fa) house, The head of the bees is called the

(b} home.
el army.
{d}l colony.
gueen bee, She ia 49, fa] heaviest than the rest of the bees, Her main task
{b} heavier
fo) largest
fd} larger
iz to 50. (a) lay eREs.
(b hatch
fe) make
fd) bear

YPL~-U-AV.J /60A 11 | P.T.O.




www.govtjobsalert.in

arm—B

e
Fraferias = (6) W € 9 wmeg £, w1 T

FAT L. A ] R AmaE e i
W A Taw e s w1 = W I ai

e

fa) TH1 wUR agEn-wem ol § i e 1,
w=E 1% JE el §

TR C B e E - S
w11, e 1w ol ool T B

fef A | A R, g = e B

fe} AT TR R, fee w1 TR

Bl. =441 -

I T AW s s W i
2

=5 6

ST T e e s fde #
2

52, WA T -
e A At O w8 )
T
it i weres adf A § st s fm

TR WS S TEvEET B R

YPL-U-AV.] /60A

83.

FHA ] :

uA wwn widfmd, 1935 @ e 4
B w3y Ba

=9 11+

Wi} Wi w5
= 1

= % TE-we & e gre R
I T W |

HFEA0:

ST W raean g e e &
TS WIS E w9 WeEa 9
FA 1

TS UEErT o gEiiaE WE A 0w
wea

H24 11 :

T gite = A § e w5 g
FHA

ufasrdt =g, wEw et F oawe,
600 et i T % = =w 7
Foq 10 :

afaiedt ag W Afw wm a8, el
st 9w e T wE w ggee s
By




www.govtjobsalert.in

PART—B

Directions :

The following six (B6) items congist of fwo
statements, Statement T and Statement 11
Examine these two statements carcfully and
select the correct answer using the code given
below.

Code

fal Both the statements are
indisiduaily true and Statement [1
iz the cormect explanation of
Statement 1

(5] Both  the  statements  are
mmdividually true but Statement 11
is not the correct explanation of
Statement 1

fcl  Statement 1z true but Statement [T
15 falee

fd] Statement [z false but Statement 11
is frue

§51. Statement I :
The pitch of the sound wave depends
upon itz frequency.
Statement I1 :

The loudness of the sound wave
depends upon its amplitude,

52. Statement [ :

Sound - Wave cannol propagate in
VECUANT.

Siatement 11 :

Sound waves are elastic waves and
require a medium o propagate.

YPL-U-AV]/GOA
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53.

54.

Statement 1 :
The Government of India Act, 1935
introduced Dyarchy at the Centre.

Statement 11 ;

The provincial autonomy was granted
to the Provinces.

Statemnent | :

Mughal Painbing reached itz climax
during the reign of Jahangir,

Statement 11 :

Aurangzeb's Court was adormed by
some of the best known artists of the
Mughal Schoal of Painting.

Statement | :

Phytoplankton produce most of the
organic carbon in the ocean.

Statement 11 :

Algae are produced in the cold water
biome.

Statement T :

Ceostrophic wind blows above a height
of 600 metres, paralle] to the isobars.

Statement I1 :

Geostrophic wind is the horizontal
wind wvelocity, in which the Coriolis
force balances the horizontal pressure
force.,

[ PT.0.




BY

&60.

www.govtjobsalert.in

Frmfatas 4 4 e vn wifiem S o5
4 DNA Tiam 27
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fel" 16 u
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fhj TerRr
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57. Which one of the following groups of 62. The atomic number of an element is 8,
cellular organclies contains DMNA? How many electrons will it gain to form
{al Mitochondria, nucleus, chloroplast & comipeund with sodium?
b} Mitochondria,  Golgi  bodies, fa} One
nucleus (b] Two
fo}  Mitochondria, plasma membrane, (e T
nuclews
(dl Chloroplast, nucleus, ribosomes (d} Four
58. One of the additional functions of 63. A sample of oxyvgen conlains two isotopes
Smooth Endoplasmic Reticulum [(SER] of oxyvgen with masses 16 u and 18 u
is respectivelv. The proportion of these
fal protein synthesis isotopes in the sample ia 3 : 1. What will
e _ be the average atomic mass of oxygen in
fby Hipid synthesis this sample?
fe} storage of biomolecules fa) 175 u
fd] detoxification of toxic substances o) 17 @
59, Damage to the apical meristem of a el 16 a
growing young plant will affect the /@ 165 u

fa]  length of the plant

fb} colour of the Nower 64. Which one of the following is a

{c) colour of the leaves heterogeneous mixture?
(d] taste of the fruits fa} Hydrochloric acid
60. Which of the following . kingdoms ®) w""egﬂf
has/have only unicellular organisms? fel Milk
fa) Monera only fd) Soda water
{b) Protista only
{c} Monera and Protista both 65. What is the formula mass of anhydrous
(d) Protisté-and Fungi both sodium ecarbonate? (Given that the

atomic masses of sodium, carbon

gnd cxyepen are 23 u, 12 u and 16 u
61. Which one of the following is a

respectively)
waterborne disecase?
fa) Jaundice fa) 286 u
b} Tuberculosis {106 u
fcj Rabies fe) B3 u

YPL-U-AV.]/60A 15 | P.T.O.
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66. FHefeian § | =E Em e oA B 70. A 79 nm % ¥9 FefafEa 8 8 S9-w dE9n
la) i)+ H,0) WL
bl COfE)+HaOig) fa} 1 nm=10""A
fel COig)+H,lg) fh} 1 nm=10A
(di NO,ig)+H,(g) & Lom eI

fd] 1 nm=102A
67. TS Ol 9 Wrg e w8

S A T1. LED &1 qm &9

(b) 20 Hz 3N 2 kHz & g (o) wTgE gofi 2w
fe)] 2 kHz 3 20 kHz % 4= fhy  wEE SElET Eame
5 = fc) ®RE TR fEawa

@ _
fd) 20 kHz # s g, W = A2

. fie am-wniee o & sy B -

e m?ﬁﬁzm%mﬁﬁﬁﬁmtﬂ ﬂf?&hﬁjﬁgwﬁw
fa) TR WA MW
fby 1 F P ow
fe) SRR AT W

fd) Tww 4@ wg A

fa) 1.6=x107'%]
b 1.6x10°'0]

e} 1x107%9
fdl 1107167

69. TH S §EE (Rddd we) w88 Ar T 73. 9Wa ¥ FrefifEn el w faw S
T9RE T AW 2M P widr Blws 4 Ar 1. WAR
AT Y g Wl o B 3w 4wl gl '
Ar @ F1 co, T8 med fEm & o -
i wrEE T FE W o, s g 3.
4

HE n 2R A9 R T 9 PR Peafafim HIEH

E;ﬁﬁiﬁnﬂﬂﬂ?mﬁﬁm i % wa & e @ e e w0
FeAgEe rafaiEs § § wE-a 87

gl WP’ =P ) 3-2-1-4

) £'=2P b 2-1-4-3

fe} P'=P}2 o) 1-4-3-2

fdl P'=Pf4 fdf 4-3-2-1

YPL~U-AVJ /60A 16
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66. Which one of the following is called T0. Which one of the following iz the correct

"syngas? relation between A and nm?
fa) Cisj+H50[R) fa} 1 nm=10""A
(b COlR)+Hz0&) B 1 nm=10A

fe] COIlg) +Halg)
fd] NO4lg)+ Hale)

fef 1 nom=1A
fd] 1 am=1024A

67, The frequency of ultrasound waves is

(al th 50 Hz T1l. The ull form of LED is
g B2 dn

fb) between 20 Hz and 2 kHz fa) Light Emitting Diode
fc) between 2 kHz and 20 kHz fb) Light Emitting Device
fd) greater than 20 kHz fe) Light Enhancing Device

fd] Light Enhancing Diode
68. The magnetic ficld strength of a current-

carrying wire at a particular distance

X | Fnigh
from the axis of the wire Tdo B aglvel ciicen mpyes Huoigh @

potential difference of 1 kY, then the

ja} depends upon the current in the energy gained by the electron is given by

wire
. faj 1-6x1071%g
{i depends upon the radius of the
wire b} 1-6x107'67
fe} depends upon the temperature. of _1a
the surroundings fet 1x%107°7J
jd) Mone of the above fd) 1x107 T

69. A stainless steel chamber containg Ar gas 73. Consider the following places of India !

at & temperature T and pl.'ﬂ“ura P 1.

Itanagar
The total number of Ar atoms in the
chamber i3 n. Now Ar gas in the 2. Imphal
chamber is replaced by CQ, gas and 3. Agartala
the total number of CO, molecules & Al

in the chamber 8 n /2 at the same
temperature.J. The pressure in the
chamber now is P, Which one of the
following relations holds true? (Both
the gases behave as ideal gases)

Which ane of the following is the correct
chronelogical order of the above places
in terms of sunrise time?

fa] "= P fa) 3-2-1-4
b P'=2P by 2-1-4-3
f) P'=Pj2 e} 1-4-3-2
(d} P'=Pf4 fd} 4-3-2-1
YPL-U-AV.]/60A 1T | P T.O.
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74, Fnafefian # 8 e 2e w6 aofogf s

7

(a) % (Bef)
®) Tarm (Bils)
fcf % (Peh)
(e} A [{Chars)

75. uyna & e a= ofe st o f=n

hifam

Tt 2

i

fimefre

e

wiggm # I R s g Tl % am,
T 4 Sa IERE w5 w5
Fpfafian § & F9-1 87

fa) 1-2-3-4

b} 2-4-3-1

BB N

fe} 2-3-4-1
fel] 3-1-2-4

76. TuEr & favy A FeRefEs &8 S9-w vl

218

fa) FHETIE W ANEE, FEE & @y g2
.

fb) vEomEeEe o fafim Teedl @ e
Frm (v R

(el siarEs 1 AmuE 65 i Beendm
i FEa 5 H A & oy aga 3

fdi sEE 4 dusE 64 cC W i
# o w A 39 5 W w2

YPL-U-AV.J /60A
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77. SEEPN i 5E =z 4 de wawe giedE F g9

# = § Frafiafiaa 4 @ fed w7 9 37
fa) ATI-HEA]
fb) eI
fo) TETE EE
d) TR

78. F=fefan & & Fm By am w0 & s

w1 1 §T T A e B
fa) oW F EE Foam sl
() Aenia of G

fc] SETETL

fe) @rEA fafaem f

79. Fafafas 8 § e wiiifsn @ 3om (oform)

& w9 H NO (T simenz) fa fwenf?
faj 3Cu+BHNO, (7g)—

B Cu+4HNO, (HE)—

fe) 4Zn+10HNO, (A7)—

fd) Zn+4HNO, (HE)—

80. Fafafaa 4 @ #F-m v P s 37

(a) TESEATER oA
(b) HTEiiw 3R
fe) WEEfes s
(d) Wi s

81. FfetEs wadl # 4 wH-m ot 27

fa) #R 7 Wi wER, wEA-wn owe Ay
T (99) & E

(bj TeTgz WAl avell wE de B, st o
TN AEEeE wel g e A g
et

(o) TR F1 wH A wwmed f s
HevEl g =T B

fdi TFEE ) WA wEl-E wEe Y g
o o ) B
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T4, Which one of the following is known as T7. Which one of the following 1s known as a

T5. Consider the

uplands of delta region?

gone of sharp salinity change in the
vertical section of ocean?

i fal Thermocline

o) B3 () Halocline

fcl  Peh fe}  Photic zone

|‘II'-'-i_|| Ch fﬂ'ﬂ FFﬂ'ﬂD'Elin:
ars

following Wildlife

Sanctuaries of India :
1. Shikari Dewvi

T8. Permanent hardness of water cannot b

removed by which one of the following
methods?

fal Treatment with washing soda
i} Calgon's method

2. Bhadra e} Bailing
3, Simnlipal {d} lon exchange method
4, Pachmarhi

Which one of the following is the correct
order of the above Wildhife Sanctuarics
in terms of their location from south to
north?

79. Which one of the following reactions will

give NO [nitric oxide) gas as one of the
produacks?

fal 3Cu+BHNO, [dilute}—

fbl Cu+4HNQO, [cono.)-

fo) 4Zn+ 10HNO, [dilute)-

i S fdi Zn+4HNO,3 [conc.]—
=431 g _
i BO. Which one of the following is a tmbasic
fe] 2-3-4-1 acid?
fd] 3-1-0-4 fa) Hydrochloric acid
fb) Mitric acid

76. Which one of the following statcments

about temperatureis oorredt?

faj Temperature decreases with height
in the stratosphere.

B Temperature is constant at different
heights in the stratosphere.

fc) Temperature increases with height
i the troposphere at an average
rate of 653 “C. per kilometre.

fd) Temperature decreases with height
in the troposphere at an average
rate of 64 °C per kilometre.

YPL~-U-AV.]/60A
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fe} Sulphuric acmd
{d) Phosphoric acid

81. Which one of the following statements is

not correct?

fa) All carbons in diamond are linked
by carbon-carbon single bond.

(b} Graphite is layered structure in
which layers are held together by
weak van der Waals forces.

fc)] Graphite layers are formed by
hexaponal rings of carbon atoms.

{d) Craphite lavers are held together
by carbon-carbon single bond.

[ B.T.O.
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Frafefas # & fi ek ok == = 27
fa) B FEA EEATTIEE

(b) = wTE SEHTEIEE

fe) =E AEEEA

fd) £\ T

o @ " o ArE e apdyie =
FT FTHATE Rk g e s 27

fa) =TETETE TR
By el EE
fej R W
i) fim

FoEl A st BT o wEl e R
fa) wal A
(& e
fet =t i
id) =l e

TR -HTer % S e e it
Tt famgea ) ot 27

fa) S

(b) TFTE BT
fo) W

fd)

wa glaedl sk = o afy Pefafie 4 9

T g Rl o 87

o) FHE—EE  AEERE— T
Y A TR —aTE

o) arft—aedt AR
TR —F

fe} TE—aES AR
i —srmferr

YPL-U-AVJ/60A
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87. ufa fav m uw amw F e F ouw 2w N

BN wE Sl R 9= RREeR d m, ouw
fenfine maw & gomw o qmim Feaw A
TrER e TR d AT

fa) N¥maN
(b} 2N 2N
fe} NS 3N
fd) 2N 33N

88. Frmiea e w famm i

s fam o afw i fegall A sl B & A
uitiry =1 o FrefaiEe 4 8 Fe-m 8

) 2R

b —R
o
c) 3 R

fdl 4R

89. TH Y T9EE 0 #Hwad Bl C uEE § ww

7= araE Frefefes 8 8 weem 37
la) 0°C

fb) =100 "C

fe) 273 15°C

fd) —-173-15°C




83.

B4,

86.

YPL-U-AV.]/GOA
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« Which one of the fellowing is called

dry ice?

fe)  Bolid carbon dicxide
bl
e} Liquid nitrogen
fel)

Liguid carbon dioxide

Ligguid ammmonia

The acidic semidigestied food coming out
of the stomach is neutralized by

(e} pancreatic juice
fb) ducdenal secretion

fci  larpe inlestine secretion
fed]  bile juice

The oxvgenated blood from the lungs is
recepved by the

(e} left aurcle
fb) left ventricle
fel  right auricle

jd] rtight ventricle

The oxvgen evolved during photo-
svnthesis comes from splitting of

fe)
fB)  carbon dioxide

¢l oxygen
{d) light

water

Which one of the following depicts the
correct ciregit of a reflex arc?

fal Effector—sensory neuron—spinal

cord—motor neuron—receptor

(b} Receptor—sensory neuron—spinal
eord—motor neuron—efector

fc) Beceptor—sensory neuron—
brain—motor neuron—effector

{dl Bensory neuron—receptor—brain—
effector—motor neuron

21

87. If one set of chromosomes for a given

plant is represented as N; in case of
double fertilization, the zvgote and
the endosperm nucleus of a diploid
plant would have how many sets of
chromosomes regpectively?

fal N and 2N
By 2N and 2N
fe} N and 3N
fed) 2N and 3N

B8. Consider the following circuit :

89,

B
N
A ) B
[
R
g e

Which one of the [Rllowing is the
value of the rezistance between points
Aand B in the circuit given above?

s

fer)

s

fi}

s

fc)

Bl trida ik

-
=

fci)

The absolute =zero temperature is
0 Kelvin, In “C unit, which one of the
following is the  absolute  zero
temperature?

faj O"C
(b
fcl
fel}

=100 *C
-27315 °C
-17315°C

| P.T.O.
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90, BT wEm, UV @ 9 X-fFon = & R

ﬁl‘ﬂlﬁlﬁaﬁﬂﬂﬁ?ﬂiﬁﬁq:

1. 7@ W W auew, X-fEe &
mmee] & s #

2, X-Fm & wEE o Fal, Uv mwm
2Tl Tt HE] W aTiaeR B B

3, UV TR wRE R wwl, g wEm
F w2 A A R

sfen el § @ #a-m)E ad BT
fm) 1,2 #W3
fb) FeE 1 32
e a2 afm 3

fd) F= 1

91, wENE L AWl EUHA m % e O 4 g O

wE A W feReaEly we T B IR
witerer o ward W 4L o wge & A e
W FEE W 2m @ mgT 8, A W
dier -l e Freafafm 5 8 =-m &7

faj T

fbj 2T

fef 4T

fd) T(2

YPL-U-AV.J/60A

92. Ty wi, w9-wes (7 #i21) o Fe-ATE

(=% i) %@ frge Tewi & sl e
dia fafim avi—ems, go ol wen & @A
faga -ifm wfa % ar A 8 Frodsfm 2 9
-1 T e v wre R

la) wo—EgEE o, w—fEbm
e Al

{b) EE—EE. AW, B—EhE

(e} TS AN, s,
FIE—IH T T

() WE—yEafER W, En—fEgeEy W,
e —Frrfan

93. AR Yaw wfves 1, 2 #ir 3 % foam am

w1 aeE (V) dlr ans e R o §

r

#
&' -
T -

g=-

¥

3R = i R0 R, R, o R, B
i Ereferfias 3 A 20w W

fa) Ry>FR,> Ry
Bl Rj=R;<R,
fel] Ry=Ry<R;

id) By Ry> Ry
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00. Consider the following statements about

visible light, UV light and X-rays :

1. The wavelength of visible light is
motre than that of X-rays.

2, The energy of X-ray photons is
higher than that of UV lLight
photons.

3. The energy of UV light photons is
less than that of wvisibie light
photons.

Which of the statements given above
infare correct?

fa) 1,2 and 3
{B) 1 and 2 only
fol 2 and 3 only

fd] 1 only

91. The time period of oscillation of asimple

pendulum having length L and mass of
the bob m is given as T. If the length of
the pendulum is increased to 4L and
the mass of the bob is increased to 2m,
then which one of the following is the
new tme period of oscillation?

fa) T

by 2T

fc) 4T

fdf T /2

YPL-U-AVJ/60A

82. The connecting cable of electrical

appliances like electric iron, water
heater or room heater contains three
insulated copper wires of three different
colours—red, green and black. Which
one of the following is the correct colour
code?

fa} Red—live wire, Green—neutral
wire, Black-—ground. wire

fb) Red—neutral wire, Greep—ground
wire, Black—live wire

fe) Red—live © wire,  Green—ground
wire, Black—neutral wire

(d)] Red—ground wire, Green—live
wire, Black—neutral wire

93. The graphs between current (/] and

voltage (V) for three Hnear resistors
1y 2 and 3 are given below

! .."'3
I : 23
i
-'-.F
- 2
; =
5 &
i o e
-,f‘ —I-F
S "
el
oo ~
v i

i R, By and R, are the resistances of
these resistors, then which one of the
following is correct?

fd] Ra=> Ry> R

| P.T.O.
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94. wH gEEdl W uE gedie & P @ 96. wHfi-1 F Tk oww gt Sifm o

Frefeafian =t o firam <ifm qil 9= foy ™ g2 W v = wd I
1. gl & A5 wwn sfigres, 96 6 P
3I9E E B B -1 =11
2. gwsts F siigEe s 5, W (5 W) AI)
e 1w g W wfs 1 A m s T
B. e T e
3. FEes W owmedR, e whews R C. Tum 3. Furwnlt
RIRH % Wg e w2 B o, Tm 4,
4. el W owEdE, e afigers ¥z
B 2 & T
A Sy wm la) A B & D
s 4 998 ) B 5 AN o
. WM 1 3
o) F 1 3 3 A/ B ¢ D
/4 1 3
fb) 1 ¥4 ) A/ B € D
2. 1 4 3
fef 2, 33fKq
97, g1 ® G- % Am gl Siem s
fef 1, 233 qfudt & = fy W W w5 wd T
B
i1 -
95. UF ug ¥ FEER M, ww =) en m b (e wm) (vam=)
Sl HR W e o o gy $de @ A. 1. gqER
T T U M b, Feme zomE s e B. =i deft 2. i
fren gt e s AR i @ m A C. == ¥ W
7 T TR P § @ we-m . =@ 4. Il sl
£ T
fa} A ] C D
fal o 1 ¥ 2 3
B} A B € D
bl 24 J 1 2 4 3
A B C D
fel & [2 - a 4 3 1
o
fd) @ /4 “ ; 2 f Ijj

YPL-U-AV.] f60A 24
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g4, Consider Lthe following statements about
a microscope and a telescope |

1. Both the eyvepiece and the objective
of a MiCTosCcope Are CONYex lenses,

2. The focal length of the objective of a
telescope is larger than the focal
length of its evepiece.

3. The magnification of a telescope
increaszes with the increase i focal
iength of its objective.

4, The magnification of a microscope
increases with the increass in focal
length of its abjective.

Which of the statements given above are
correct?

fa) 1 and 3 only
B 1 and 4
fel 2, 3-and 4

fd} 1,2 and 3

95. A planet has a mass M; and radius Ry.
The value of acceleration due o gravity
on itz surface is g . There is another
planet 2, whose masa and radius both
are two times that of the first planel
Which one of the following is the
acceleration due. to gravity on the
surface of planet 27

fal @
. 2,
fel gy 2

(d} g /4

YPL-U-AY.]/60A
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96. Match List-]l with List-I1 and select the
correct answer using the code given
below the Lists ;

Lizi-1
{River Basing
A. Bhagirathi
B, Alaknanda
C. Nayar
D, Ganga
Cade :
fa) A B
3 1
B A B
3 &}
(e & |'B
2 %
i) A B
2 1

By o= o= R

I

List=II
{ Tt

Lansdowne
Narendra Nagar
Tttarkashi

Fauri

W wo wog =D

7. Match List-I with List-II and aelect the

correct answer using the code given
below the Lists :

(Local Wirnd)

g Sl T

List=l

Yamo

Black Eaoller

Bise

Haboab

Code -
fea}

()

fc)

fd)

M
1
A
1
A
3
A
3

Bm D K@D SO

KO a0 8D

- LR =

List-{I
(Flace]
Sudan
France
Japan
Morth America

el B LM owg

| B.T.O.
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o, #f ¥ 'msrEh’ Prafafee af 4 @ fed

frim &%

fa) A
(bf W

fe)

(d) WEYA

99, WA 2011 % AW, FeeiEd § §@ fE

wrfi U R SRR R Jhe AFAEE S
g 87

fa) TR

(b)  TirEhe

fe) TEgm

jdj  APTEE

100, F=fafaa 0 @ fee s % dud w99 adw &

o B 7

fa) TE FOEHT UG
(b} HOTH] T

fc) AR T4

fd) T =t wy

YPL-L-AV.]/60A
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101. HH-1 ® w1 % e gufm fifm sl

gt & A9 R e g2 W i W o am
5 -

wefi-1 wpeft-11

(= ) (Tetatar)
A, ] 1. =-%F &3
B. Hninm 2, 2w wEm H
C. fwmmem 3. 9 & e
D. 4. SEANAEEE F I W
T
al A B c O

3 1 4 2
mPA B € D

3 4 1 2

4 1 3
d A B C D
7 1 4 &8

102, Frefefs 4 @ f9-m s (wgm)

o H 27
fa) T

b TdiEa
fo  HIEE

fd) e (Re)
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98, Majuli’, the river island, is located in
which one of the following rivers?

fal Jamuna
(b} Padma
fej Ganga

fd} Brabmaputra

99. Which one of the following Indian States
has recorded negative pgrowth of
population as per Census 20117

faj Manipur
f} Mizoram
fe) Tripura

(d) Nagaland

100. Which one of the following types of
cloud is characterized by continuous
precipitation?

fa) Cirrocumulus
i Cumulus
je)  Nimboatratus

fd] Camulonmbus

YPL-U-AV. /60A 27

101. Match List-I with List-11 and select the
correct answer using the code grven
below the Lists :

List=] Ligt={l
{Major Port) {Location}
A. Kolkata 1. Landlocked area
B, Mormugao 2. In‘the delta region
C. Visakhapatnam 3. On the riverside
D. Paradip 4. On the entrance of
the estuary
Code :
fa) A £} C D
3 1 4 2
bl A B i D
3 4 | 2
fe) A B C D
2 4 1 3

dl A B L& D

102. Which one of the following is net an
agent of metamorphism?

fa} Heat
{b) Compression
fc} Decomposition

fd} Solution

[ BT.0.
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103, fmiafas # @ B femm @ pH, 7 4 =9 106. Fofefim 3 & F=-m fram =1 oemf g3

gmi ¥
fa) NaOH fai CaS0,-2H,0
(b ECI (b} Caz8i0,
fe} 2Cas0, Hy0
fe)  FeCl, j -
(d} CaSO,
fd) NaCl

107. T=wF wEm & BEm & e 4 AafEie st

104, Frfirfian 4 3 #-a uww swwE sl # 8§ F-E a8

7
¥ of Bt B A e w s WA

TEFET # R R
fal NaOQH+HC| — NaCl + H,0O
by W el i § 4 g O B, @
(b} Ca0+H,0— CajOH), A e % A wige 4 fife ded
B, and & wvdl 48 A Ay o E
fel 2Mg+0, — 2ZMgO
fe)  #=3 = A A1 309w e W owsm B e g
(d) Ma,S0,+BaCl, — BaS0+ 2NaCl GEERET e o

fd) = 9 s zZm om oadt A F e
el o ol o) wnEn A @ 3
105, = % #9 § fr=fefirm & @ & ags i

e wtTen 87
) 108, X-Tmi o waesd fem il = a7
o) SHTRE HrELE
fal 1A
ib)  FHIEY HeEREE
B 1 pm
jol AT wiER @ Vs
fdj AT Tk fd) 1 cm

YPL-J-AV.] /60A 28
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103. The solution of which one of the following
will have pH less than 7?2

fa}

b

fc)

fed)

104. Which

MNaOH

KCl

FeCl,

NaCl

one of the following ia an

oxidation-reduction reaction?

fai}

)

fc)

fel)

NaOH + HCl — NaCl + H,O
Ca0+H,0 —+Ca{OH)},
2Mg + 0, — 2MgD

Na 50, + BaCl, — Ba80, + 2NaCl

105. Which one of the following is not used as
fertilizer?

fal

)

fe)

{d}

Ammonivm mitrate

Ammonium sulphide

Ammonium phosphate

Ammonium sulphate

YPL-U-AV.J/60A

106. Which one of

the followmg is the

chemical formula of gypsum?

fa) CaS0, 2H,0

{b)

fc}

Ca 30,

2Cas0, -H,0

(dj CasO,

107. Which one of the following statements
about the law of conservation of mass is
corTect?

fal A given compound always contains

(b}

el

(d)

exactly SEITE

elements.

proportion of

When gases combine in a reaction,
they do so in & simple rato by
volume, provided all pases are al
room lemperature.

Matier can neither be created nor
destroved.

Equal volumes of all gases at same
temperature and pressure contain
equal number of molecules.

108. The wavelength of X-trays iz of the
order of
fa) 1A
(&) 1 pm
fe} 1 mm
fdl 1 cm

[ P.T.O.
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109. Tt = o g % o W faan it -
a.lrr 53

fms)
B 1

18 iy gy

8 s & 12 s w5 shaw mm w oo Psfofes
%8 we-m Ry

faj 8m/a?
b} 12 m/s®
fel 2 m/s®

id) =1 ::|::,|".-.1=

110. #f% wF I99 T F B T S0em B, @
w0k fE (guer) Fetaias § | =96 27

fa) +2 Swie

fh) +002 ERATE
fe) -05 EeHie
fe) +05 ERETE

YPL-U-AVJ f60A a0

111. Fr=ifra wrte o saiy wgen, 0% T w6 IaE!

famy s & U WA wEAE WA SR
B ow owe ot wnn 2 fR oam owmm ®
AT 100 em S g 4 s A w A

e

e g AT % e T T I 6 s u
= el 4 & wrem #7

lg = 1000 cm /s%)

fa) 8 =sin""(1/9-8)

(b} 8 =sin™! (1/20)

fe) @ =sin~'|1/80)

fd) 8=sgin""'(1/100)

112, Tl = =1 & v s 1 6% 1077 K

oW owEM ¥ AEE TR TS W O9A
Fatafgys & 8 F9-m 87

fa) o-8xi0SK1!
fb) 2.4%10™° K1
fol 32w107% g1

fd) 4.8x10"% K1
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109. Consider the following velocity and time
graph ;

Vieloedy T

{m, s
ﬂ—.\\_
;

1
L]
1

4 8 12 16 Time (s

Which one of the following is the value
of average acceleration from 8 s to 12 s7?

fa} 8 m/s*
fb) 12 m/s?
fe) 2 mjs®
fd] -1 mjfs*
110. If the focal length of a convex lens is

50 cm, which one of the following is its
powers

fa} +2 dioptre
bl +0-02 dioptre
fe) —0:5 dioptre

fe}] +0-5 dioptre

YPL-U-AVJ/60A

111. A ball is released from rest and rolls
down an inclined plane, as shown in the
following figure, requiring 4s o cover a
distance of 100 cm along the plane :

=

Which one of the lallowing is the correct
value of angle B that the plane makes

with the horizontal? (g = 1000 cm/s?)

fa) B ==in~!(1/9-8)

fb) @ = sin~1(1/20)

fe) B =sin!{1/80)

{d} 8=sin"1{17100)

112. The coefficient of areal expansion of a
material is 1.6x10°% K™!, Which one

of the following gives the wvalue of
coefficient of volume expansion of this
material?

fa) 0.8x10°° K1
B} 2.4x10% g
fe@ 3-2x107% K1

fd} 4-8x10° K!

[ P.T.O.
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113, &t mreml & WoSdanR oy, @ on, o e 116. i1 & - & omw e Hifm s

¥p g @ W ¥ wemw % 3 wae gt ¥ @9 e m o w0 gdm w wd T
J:.'l‘ﬁmvgh'ﬂﬁ nzfrt]ﬂﬂﬁl'ﬁt.ﬂ"l' gﬁl‘ﬂ,:

i wedl & @ *i9-m ol 27

fa) w ¥ A vy 15 T R ftn?ﬂ:ﬂ} {w‘ﬁlﬂ-ﬂ}

(b) g T HA vy 15 TR

fej vy AR vy F wE R A, ofim we b T
(el wy WA v, 3R B. sfém qo ma 2. THE
C. TH 7 3. femmeg
. g # - hy arquew A

114 ﬁﬁﬁﬁﬂ{;}mw argHER D, sm @ () 4. gl
fo) R wE
i g SRR @ "B C D
fe) T STESTRAES 2.0 8 a4 1
e}

B A B c &}

115, g1 # g % ww gofae ifem i
gl % 419w TR W W I

gfo . 2 4 3 1
-1 -1
(i = werarg-wEdt (35 g [ A B ©C D
TET) 1 3 4 2
A, FErEREEdE 3 1. Af
B. - 39579 T 2. VE&a
C. sEeAwrTY 3 Df 117, FEWET 2011 % SEAW, -0 S9N &
D. 8 WEE 4, BWk dag # wndhm U= oW @ s @A
¥z ; frferfiza # 4 S9-m 87
fa A B o D
14 2 3 () Pt —Afig— g — e
b} @&, B € D
3 N 4 2 by Eru—aTrp—em
e} AV B € D
9 & & 1 fef ey —fm
A B & D
s & 4 1 (e} T —Irares— R —fsim

YPL-U-AV.! f60OA a3
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113, The tefractive indices of two media are 116. Match List-I1 with List—II and select the
denoted by ny and ng, and the velocities correct answer using the code given
of light in these two media are below the Lists @
respectively v and vy, If ng /0y is 145,
which one of the following statements is List-I List-IT
correct? (Ratluweay Zone) (Headguarters)
i i A. West Central 1, Jabalpur
(b} 1y im 1-5 tmes u).

[c) 1w is equal to vy, B. South East Central 2, Gorakhpur
fd} vy is 3 times vy, C. East Central 3, Bilaspur

114, Which one of the following greenhouse D. HNorth Eastern 4. Hajipur
gases is in largest concentration in the
atmosphere?

Code
faj  Chlorofluarocarbomn
) Nitrous oxide fa) A e o D
fe}] Carbon dioxide 2 3 % 1
d} Meth
e e B A B € D

115. Match List-1 with List-1I and select the 1 * = 2
correct answer using the code given
bt he b o fe) A B C D

o e 2 4 3 1
List—T List-il
(Koppen's Climatic Type) (Letter Code) fed) a;t 5 E 12)
A, Tropical wet 1. A
B. Mid-latitude desgert 2. Ca
- 117. Which one of the following is the correct
C. Mediterranean 3. Df descending order of Indian States in
Code : fa} Mizoram=—Manipur—
Tripura—Meghalaya
fal A B = D
i & 2 3 fB) Tripura—Manipur—
fhy A B C o Meghalaya—NMizoram
; . : : ]  Meghala Mani
e eE ya— pur—
g A B C D : .
A o 4 A Mizoram—Tripura
[d] A B C D fd} Manipur—Meghalaya—
3 4 2 1 Tripura—Mizoram

YPL-U-AVJ /60A a3 [ P.T.O,
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118, Fraferfd @ @ Fem wg w @ (vieTew

FRTRI ) g F e e 27
fa) e

(B) wE=E

fe)

fd) =T AEE

119, Fafafas 3§ 8 SH-H teEiE s i 0s

wfar T4 27
fa) =
by T
fe) sl

fd] IR

120. #uaA 39w & fere Fofefis et 8@ g $e-m

aft Bf

fa) THE FEE 0 A 8

) =AW F AW T e e % Al
T, 3 R o @ WU-m wn g
i

fe) offas smondt, s o omda: zE
g B

(di TR HiEE g 200 cm B 20

YPL-U-AV.] /60A
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121. W I o & wwd ww s wh g R

forfrfine wat 4 @ S-a1 5 27
fa) =% w5 of 35 wiakEs T ==

(b} == = i S W =g R, d wlatEe
IR W HJT T R

fc) =W F mrm e oA R ow ek @
70 uidl== 3521 T4 aEata® 7 "

(d} W G F w0 R A g W
o B, A wofemE w amEn aw #
S - R

122, fwnm R wuwl (qiR) & d@Em W oA o

AT, wEel 8 wied ww 7R FEel &
¥ o eeht W W 9R 0] Swen B uR
gl & e @ o ow o oA e
st W A W, W@ wuelt o w G
w1 oA Pefafee 8 8 $9-m g

fa) 005 FEEn
(b 02 EEen
fe} 4 ZHEN
fd) 0B T

123. WA & giEum & mm Fafcfan 2 8 s

e wifern (qE) A T A7
fa) | W T

fby FaEE AR

fe)  Amifiwa 1 wfieen

fd) wmm + g witEm
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118. Steppe (temperate continental} climate is 121. An object is placed in front of a convex
not experienced in which one of the mirror. Which one of the following
following places? statements is correct?

fal It will never form an inverted image.
fa) Pretoria
{b) The image moves towards the focus
when the object moves towards the
{b] Saskatchewan HETTOE:
fe) Perth fe} Depending on the ‘position of the

object with respect to the mirror,

the image can be inverted and real.
{d} Buenos Aires

fd) The size ©of the ‘image becomes
larger than that of the object when
the object is placed at a distance
119. Which one of the following is not a equal to halfl the focal length.
proceas of chemical weathering?

122. A ecireular coil of mdius R having

fa)] Solution N mumber of turns carries a steady

current /. The magnetic mduction at

(b] Carbonatio the centre of the coil is 01 tesla. If the
roona n

number of turns is doubled and the
radins is halved, which one of the

fo) DOxidation following will be the correct value for
the magnetic induction at the centre of
fd) Exfoliation the coil?
fa) 005 tesla
B 02 tesia
120. Which one of the following statements is fc) 04 tesla
correct for a plane mirror?
fed) O-8 tesla

fa) Its focal length s zero.

123. Which one among the following is not
{b) The size of the image of an ohbject a Fundamental Right under the
placed in front of the mirror is Constitution of India?
slightly less than that of the object. . )
fa) Right to equality

fc] 'The image is virtual, erect and (b} Right to freedom
laterally inverted.
ol fe) Right te citizenship

fd) Its focal length is 200 cm. fd) Right against exploitation

YPL-U-AV.J/G0A as | PT.0.
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124, fafefen 4 @ 9 ww w9e wma § 127. 9= F 13 aEwt 8 4 o @ feo g

IR - ot @ frem @ Sm dw w0
i S TR we———
fa) 1763
b) TR (b 1764
fc) TH fe) 1765
o b (d) 1766

128, =9 mEg § § =9 g7a 2 o 3 fama dmed

128, =im wia & e givEn & ot 8 Gl grars & Rrerrae e famn o6 7
FHA T o wifE
ja) Flef=
1. e A e gee: BEe # it
o (b) HITEaE
2. 159 A § siyEew s don fc) =i
efires witmee afier il 5= 0 | (@ B
IR FEET § @ WA-EE A e
g5 e 1 129, Wi fez Sfew oo 3 v 8 we s
gad e Wl e e ad
(b = 2 fo) wefiEe
fei 1 #W 29 (b) HI
fd) TH 1. TH2 ' fe) iR
() =SS

126. Fesfatan o= 4 3 =9-m v w60 gifaa 87
130, 2w wokm wwm fofafe § 4 f5e o

N w % € Rt o iy Pomr mar et
fz) TR . AT g
\ fa) wurEm aimfy
M) TwmEE FAeTlan ) P viveard Wi
fej TEER Tarfameria (c) TR affa
fd) Ha= : A fd) it witfa

YPL-U-AVJ/60A 26
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124. Which one of the following crops was 127. When did the Stamp Act Congress
mtroduced by the Portuguese in India? consisting of delegates from 9 of
the 13 colonies of America meet
fal  Opium New Yorlk City?
b} Coffee fal 1763
e Betel leaf ol
fe) 1765
fdl Chili
(d] 1766

125. Consider the following statements about

ssohant ghide of St Tnde 1 128. Who among the following travellers

was from Italy and visited Vijayanagar
1. Ayvavole merchant guild was Kingdom m the fiftcenth century?
originally established in Aihole.

fa)  MNikitin
2. Manigraman merchant guild was
subordinated to the Anjuvannam i) Fa-Hien
merchant guild in the 13th .
century. (£ Bernier

fdf Nicolo Conti
Which of the statemenis given above
is/are correct?
129. Where did the French East India

fal 1 only Fumpgn}' first establish its factory
in India?

e fa} Calicut

fel Baoth |1 and 2 (b} Surat

{dl Meither 1 nor 2 fe) Pondicherry

fdl Masulipatrnam

126. Which one of the following pairs is
correctly matched™ 130. The Central Vigilance Comrmission was

Bhaksi Scife Philo by established on the recommendation of

which one of the following Committess?
fa} ~Ehankara v Avadhuta

fa) Santhanam Committes

b Ramananda ; Kewaladwvai
& i i (b} Dinesh Goswami Committes

fc Ramanuja : Vishishtadvaita fo)  Tarkunde Committes

(d} Chaitanva : Advaila {d} MNarasimham Committee

YPL-U-AV.J/60A a7 | E.T.O.
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131, -1 ® G-Il F ww g fifm e

gt & 49 fim m 52w wn 5 oA o
=t
-1 -1
() (e}
.y e e 1, RaEfwEv e
Harar
. EEMTY T 2. fr= o
. FETenT Tt 3. 7 fErwat sy
. HETEEE IR 4. wiaeT vz am-ffy
e ¥ g
e
@@ A B € D
a ] 2 1
M) A B C D
3 42 3 1
£l A B € D
1 4 a2 3
) A B € D
i 2 4 3

132, 1 (FIFA) 92 %4, 2018 = nfusiies

i Frerferfirm # & W 7
fa) G

(b T

fe) T

fel) it

133. Wafag g oEm Fefaem (min E@wm

fawfromre. sy, 2018 % sgEn) =

YPL-U-AV.J/60A

134. T & § muanl § sfa @2 @ owl

srafti B
fa) Tmg
fb) =

o) SlegleE
fd) e

135. =7 2018 # Wi 3 g B v ww A

o (Fm) s g @ f R
sy s Al sREEm W wee TR S

=t | Fw afpfen sheie

(o) ZE-afirm e ofmme (F-Ew
wiTTEr drite)

(by w2 T2 i wwe (I 1w O sRiEmEE)
fc) wTEER 9
fd) TP TE faEEn

136, Fr=feafaa & 8 =19 G7 =1 ugey 79 B7

faj W
(b) W
fel =4

fel) T

137. % Jmal # @ feed wweim #m wm dogE

Br?

fa) T g REE
(b) mErem i)

fe) e T Taern
fd} o do FIEAHE
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131. Match List—] with List-11 and select the

correct answer uging the code given
below the Lists :

134,

Sentosa

izland, which was
recently, is located in

M news

fa) Singapore
List-I List—IT
{Author) (Book} fb) China
. Bal Gangadhar The Arctic Home fe]  Australia
Tilak in the Vedas i) Sril
. Dadabhai Naoroji . Hind Swardaf

. Mahatma Gandhi

135. India, in June 2018, asserted that any

133. The

.« The Discovery af

India
. Jawaharlal Nehru 4, Poverly and
Un-Britizh Bule in
Inedia
Code -
fal A B C D
3 4 2 1
b A B c D
3 2 4 1
fel A B C D
1 4 2 3
fd] A B C D
1 2 4 3

132. Which one of the following is the Cfficial

Mascot of the FIFA World Cup, 20187
fa} Fuleco

b} Zakumi

fc) Pille

fd) Zabivaka

Headquarters of the
Mational Sports University {as per
the National Sports University
Drdinance, 2018} will be st up in

fo) Chhattisgarh
fb) Manipur

fc) Kerala

fd] West Bengal

proposed

YPL-U-AV.J/60A
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136. Who among the following

mega connectivity project must respect
sovereignty and territorial integrity of
the countriea; The project referred to
above is

fa}
(b}
fe}

fet)

North-South Corridor Project
Belt and Road Initiative
Chabahar Port

Panama Canal Expansion

is not a
member of GT?

fa} France
(=)
ic)

@

Germany

Russia

Japan

137. Who among the following leaders started

the Indian Home Rule League?
fal
(b}
(e}
(i)

Gopal Krishna Gokhale
Mahatma Gandhi
Bal Gangadhar Tilak

J. B. Kripalani

| R.T.O.
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138, WA ik TeEEm TEE F U S e

am Fager o wman 27

fa) F=an ATy sl gee (wiehm)
(b HFEEeE

fc) wwE =1 UES

fd] T T

139. “Es-upEEEn e 6 gfs fefafEs § 8

frn v gmadfa 9 2R 9REl AR S
=1 7% oft?

fa) TR TEANE S
) gudt gt A
fe) TR TeEdTE g
f) Tl el S

140, F=fafaas & & S9-0 = wa & ofgym 3

aerriaETaE = o i & R o | o9m
Tt &7

faj w9F =E 0 Foges G g

(b} TEW wewm & el slw wEl A
s w HE

i) M Tl (TEEE w) W R

fd) ARPAICTER] ] AR H S TEA]

141. wd & sfEam = w2 1 ‘T’ =

feffgs 4 8 o vs dviiys sfufem &
TNH # Wafae e mEn ar?

fa) 4181 geias sTEfEm
fb) 42l @i e
fej 4341 deiras arfufmEm
fed) 4437 deirgs sfafmy

YPL-U-AVJ /60A

142. 7EW 7§ 3w f2 sfEm s F sibem =

T 1 o am @ e anm e
fa) rE s

fb) iE HE FR

fe) TfFERER AiEw

(d) wrde 45

143. @au:aﬂﬁrmm:mﬁwmm&ﬁrﬁ;

Tefafe # & e owwlta o=
{'thmﬂ W [EE TS OF oS R
WA WO WS A (Fiiae ater St
sew) # wem v fien 27
fa) weT T

(b) A

(¢} TE

(] HERTE

44, gEte ofewg (14 f= FEfE) = wE aE

i @ Fia 87

fa) WRA % A
fb) WA & wETE
fe) el s

(d) F=Em vemhd (e owen), Em
o w3
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13B. Every Judge of the Supreme Court of 142. The place of English East India Company
India is appointed by gettlement in Madras was known as

faj the Bupreme Court Collegium

{b) the Cabinet fa} Fort William
-] BLENETRE

fo}  the President of India {b)  Fort 51 George

fd] the Lok Sabha
fe} Elphinsione Circle

139. The MNehru-Mahalanobis Sirategy of
Development was implemented for the id}  Wartle Falace
firet time by which one of the following
Five-Year Plans?

fa} First Five-Year Plan 143. Which one of the following Indian States

— Pl (other than Himalayan or NE States)
i), ek eesTar-En ranked first in the Composite Water
fe  Third Five-Year Plan Management Index as per the report
fel) Seventh Five-Year Plan issued by the NITI Aayop in June 20187

) ) fal Madhya Pradesh
140. Which one of the following is not a

part of the Directive Principles of State

Policy as enshrined in the Constitution bj Karnataka
of India?
fa} Equal justice and free legal aid fe} Qgarat
{l) Protection of monuments -and {d] Maharashtra
places and objects af national
importance

e} Protection of personal law
144. Who among the following is the ex officio

fdj Separation of Judiciary from Chairman of the North Eastern Council?

Excoutive

fa) The President of India
141, The word ‘secialist’ was inserted into the

Preamble to the Constitution of Tndia
through which one of the following
Amendment Acts?

B} The Prime Mimister of India

fc) The Union Home Minister
fe). 41st Amendment Act

) 42nd Amendment Act fd} The Umion Minister of State
: (Independent Charge), Ministry of
el 43 Ammndoient Aot Development of North Eastern
fd) 44th Amendment Act Hegion

YPL-U-AVJ/60A 41 | P.T.O.



www.govtjobsalert.in

145, fag v feam (a8 see g 2), 2018

T Frfirfiam § & s &7
fa} T TM WM Ht Frg@ B

(b) Tt siw % fom =ef wffen) o5 ifsm)
g #ffen

fe e difen) andt At | am-am
(d) Ho e g=m B s vEE=E

146. Oififs Tl g W A v SE ) e

T COST ¥N IGST % ¥ am 1 gigH
w4 T WnE wERR f U oehm e e
TreT = Ee g el 4 | e e
g AT e &7

fa) W T
(b) TE AT
el :mﬁmnmé’fﬂmahaﬁmﬁmﬁm

B eI

(i) s = i sfirgieT s

147, 2o FRm s, e Aol oftmn goen,

2018 (FEFi U4 guER) & wrEe B,
Frferian @ & fFaeE wads &7

for) O T AR

(b) ERS faurdt v

fe) e s it wnfies gun SEwE
d) TAEE FEIEIH
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148. WIH % HfEwE % sgese 352 § fead gafe

Iy #7
fa) T AR
(b) Tr=at & wifas s & e

fc) wREO= F wer ol # uEm afawnEl
e = e

(d) AT FTIEE

149, fimmifsea dmEd W e e fn @?

fa) ‘o e gH
fb) =i ey
(e U W

fd) TIE EHA

150. faftm s o & =t & Fafafiay =t 7 &

mr - w87

fa) @ T W A 6 & HEe |

(b A wEE & EE = k wEe g

fc) = A WA FOTEC] "R O TETE

(d) 3 TiEm Sw * T 6
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145. Which one of the following is the theme of 148. Article 352 of the Constitution of India
ithe Warld Blood Donor Day, 20187 contains provisions related to
fa}  Blood connects us all fa) financial emergency

{b) Be there for someone else. Give

hload. Share life ) failure of constitutional machinery

in States

fol  Give blood. Give now. Give often
fo suspension of the enforcement of

{d} Thank you for saving my life rights conferred in Part 1Il of the
Constfitution
146. 'Seva Bhoj Yojana', a scheme of the (d} general emergency

Government of India that seeks fo
reimburse Central share of CGST and
1GST on Food / Prasad / Langar/Bhandara
offered by religious  institutions, is
introduced recently by which one of the

149, The Theosophical Society was led by

following Ministries? fa) JA. O, Hume
fajf The Ministry of Culture b} Arthur Griffith
b The Ministty of Home Affairs fe) Annie Besant

fel  The Miniztry of Consumer Affairs, .
Food and Public Distribution W, 3ard. Bulden
{dl The Ministry of Social Justice and

Empowerment 150. Which one of the following statements

about Bipin Chandra Pal ig correct?

147. Iir, Bindeshwar Pathak, who was
awarded Wikkei Asia Prize, 2018 for
Culture and o Community, is the

fa} He was a member of the moderate
group of Congréss.

OUNAErQS fb) He was a member of the extremist

fa) Bachpan Bachao Andolan group of Congress.

ik} PRS Legislative Research fc) He was the Minister of Defence
in the first OGovernment of

¢} Sulabh Sanitation and Social independent India.

Eeform Movement
fdl He was the Chiel Minister of West
fd) Smile Foundation Bengal.
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